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Rl == | RT| ma | Fox: | Ex
9 |AEX— 9 10145 |  1000.0 1
10 |XIEREX 10 10105 996.1 2
18 |#HLE # 18 1006.5 992.1 3
28 |=BEE 26 1003.0 988.7 4
32 |8l B 32 1002.5 988.2 5
12 |REFES 12 10015 987.2 6
7 |RHESE 7 1000.5 986.2 7
13 |SpAREUE 13 1000.0 985.7 8
3 |[FHIIEA 3 993.0 978.8 9
20 |WMEE 29 993.0 978.8 9
30 |[KiFE— 30 991.0 976.8 11
371 VR ¥ 37 991.0 976.8 11
31 |/MBRETE 31 9885 974.4 13
19 |HENMIT 19 988.0 973.9 14
35 [ILREE 35 986.5 972.4 15
34 [FTHIEX 34 984.5 970.4 16
33 |WEE = 33 982.5 968.5 17
2 |=BHERE 2 981.0 967.0 18
P = R 20 9795 965.5 19
23 |EE X 23 979.5 965.5 19
14 |FRERT 14 979.0 965.0 21
21 |[dEREA 21 979.0 965.0 21
1 |teBEm 11 974.0 960.1 23
6 | KIXESR 6 9730 959.1 24
4 |[/IVBFIER 4 9705 956.6 25
22 |BERR 22 968.5 954.7 26
17 |BR & 17 955.5 941.8 27
27 |AEEE 27 951.5 937.9 28
24 |[HHZEM 24 946.0 932.5 29
8 |HFE & 38 9435 930.0 30
5 (BREMH= 5 9420 928.5 31
16 |&iE5 & 16 931.0 917.7 32
1 |BR & 1 9295 916.2 33
15 [HHZES 15 922.5 909.3 34
36 [RTHCe 36 901.5 888.6 35
25 |BRIEX 25 866.5 854.1 36
28 [IEXAEX 28 760.5 749.6 37
8 |FR & 8 0.0 38




